MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Street, Room 208
AFFAIRS (PERA) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786)315-2599
NOTICE OF ACCEPTANCE (NOA) www.niamidade.govipera/

Industrial Louvers, Inc.

511 South 7" Street

Delano, MN 55328

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed and accepted by Miami-Dade
County PERA -Product Control Section to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA. shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model SP-537DC 5” Drainable Blade Louver

APPROVAL DOCUMENT: Drawing No. 107256, titied “SP-537DC 5” Drainable Blade Louvet”, sheets 1
through 8 of 8, dated 10/31/2007, with revision 1 dated 02/28/2008, prepared by Industrial Louvers, Inc.,
signed and sealed by L. David Rice, P.E., bearing the Miami-Dade County Product Control revision stamp
with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0513.08 and consists of this page 1 and evidence page E-1, as well as approval

document mentioned above.
The submitted documentation was reviewed by Carles M. Utrera, P.E.

- NOA No. 11-0822.06
.’ 7 Expiration Date: July 10, 2013
. Approval Date: February 23, 2012

MIAMIEDADE COUNTY

APPROVED



Industrial Louvers, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS
1. Drawing No. 107256, titled “SP-537DC 5” Drainable Blade Louver”, sheets 1 through

8 of 8, dated 10/31/2007, with revision 1 dated 02/28/2008, prepared by Industrial
Louvers, Inc., signed and sealed by L. David Rice, P.E.

TESTS “Submitted under NOA # 08-0513.08”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings and installation diagram of Model SP-537DC
Aluminum Louver, prepared by Architectural Testing, Inc., Test Report No. 79282.01-
201-18, dated 03/20/2008, signed and scaled by Joseph A. Reed, P.E.

CALCULATIONS “Submitted under NOA # 08-0513.08”
1. Anchor verification calculations and structural analysis prepared by Rice Engineering,
dated 05/05/2008, signed and sealed by L. David Rice, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Permitting, Environment, and Regulatory Affairs (PERA)

- MATERIAL CERTIFICATIONS

1. None.

STATEMENTS
1. Statement letter of conformance to 2007 and 2010 FBC, issued by Rice Engineering,

. dated 02/10/2011, signed and sealed by L. David Rice, P.E.

_ “Submitted under NOA # 08-0513.08”
2. Statement letter of no financial interest issued by Rice Engineering, dated 04/16/2008,

signed and sealed by L. David Rice, P.E.
3. Laboratory compliance letter issued by Architectural Testing, Inc. for Test Report No.
79282.01-201-18, dated 03/20/2008, signed and sealed by Joseph A. Reed, P.E.

7 ,D/zoiz

Carlos M Utrera, P.E,

Product Control Examiner

NOA No, 11-0822.06

Expiration Date: July 10, 2013
Approval Date: February 23, 2012



ANCHORED TO w0OO

MAX. FOR MULLION #3
MAX. FOR MULLION #2

84”
108"

- . Q D ANCHORED TO wOOD .
O (3C)/ DURING TESTS @ DURING TESTS @

P “3/® /@ f@/@ m/—@ /@
MA =

il

| 18 MAX I ]
ANCHORED JYP. S il
= 10 o SN 2 9 -
o\ 67 MAX S . - — al
> 2—— 72— 7/5 — /4 7/5
- b 4 v 7
o " MAXH ' cH ANCHORED = =
0 s S7o— 20 “woop — oo 2] aNcHORED
] \v/ DURING \v/ TD WE”:]D
% CLIP DURING
< LEG DUT ¢h = H]TESTS >
L . u R i
¥ 18TYI\;1)AX CLIP CLIP
— | e ———HLEG N HLEG IN
f é) l 60" [MAX. ] 5 f /@_/ @ | 36" [MAX. ]
| TRIB, WIDTH TRIB. WIDTH
60" 60 60” 36" 36 - 36
/ 180" 108" -
DEAD LOAD SHIMS SPECIMEN #1 ANCHORED DEAD LOAD SHIMS SPECIMEN #2 ANCHORED

REQ'D AT SILL TO_CONCRETE TWICE REQ'D AT SILL <55 p<F DESIGN PRESSURE

& TO STEEL ONCE
DURING TESTS @TY OF 3 THUS TESTED

120 PSF DESIGN PRESSURE
(QTY OF 3 THUS TESTED

TO _CONCRETE TWICE
& TO STEEL ONCE
DURING TESTS

ANCHORED GENERAL NOTES
g‘DTgﬂg‘%EE[EDL}E’éCE I, IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF
S RING TESTS THE EXISTING STRUCTURE TO SUPPORT THE LUADS SUPERIMPOSED BY THE LOUVERS.

> THESE LOUVER SYSTEMS HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE 2010 FLORIDA

BUILDING CODE <FBCY AND FBC PROTOCOLS TAS-201, 202 & 203 FOR AREAS INCLUBING HIGH VELOCITY
HURRICANE ZONES.
3. EACH LDUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS:
INDUSTRIAL LOUVERS, INC,
DELANO, MN

1 |SHOW AS TESTED CONDITION||_DR|2/28/08

NO.| REVISION DESCRIPTION | BY | DATE

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED

<
0% ?Z,_.E
0| g
5 ‘:‘E
(|
M .
A=
T | =
2| S en
N g
WD BB
21 28
= |~
<L
o
—
N )
=
2| B 5
P
oS
0.
XL
) LJ_J__J
L

A WATER RESISTANT SYSTEM.

12. THE LBUVER IS TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER
IS DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM, AND THE ROOM WILL HOUSE
WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS OR SUPPLIES,

4 ALL CONCRETE SUBSTRATE SHALL BE MINIMUN 4000 PSL
5. ALL WOOD SUBSTRATE SHALL BE MIN. G = 0.42 DENSITY,
ICE 6. ALL METAL STUD SUBSTRATE SHALL BE MIN. 16 GA Fy = 33 ksi
g, WAL s 7. ALL STRUCTURAL- STEEL SUBSTRATE SHALL BE MIN. Fy = 36 ksl
SotiD &y ENGINEERING 8, PANEL WIDTHS & HEIGHTS ARE LIMITED AS SHOWN IN ELEVATIONS AND DETALS.
L B 105 Serool Crosk Tra 9. PANELS MAY BE HORIZONTALLY STACKED TO AN UNLIMITED WIDTH VERTICAL STACKING
A 4 o 050,045 1043 MAY OCCUR PROVIDING A STRUCTURAL SUPPCRT IS DESIGNED AND INSTALLED BY DTHERS TO
; e Yo PRODUCT REVISED VITHSTAND ALL LUADS SUPERIMPOSED BY THE LOUVERS. SINGLE, NON-REINFORCED PANELS
2 i tote ", 10, SEPARATION OF DISSMILAR HETALS MUST BE WAINTADNED PER SECTION 200384 OF THE FC
8 E'é’éé?.‘é%“&'lﬁ.\Eo?ilgﬁgﬁ?éggéo Sﬁ?ﬁ?“%}ﬁ? i1, THIS SYSTEM HAS NOT BEEN TESTED FOR WATER INFILTRATION RESISTANCE AND IS NOT
%Q& ;| L David Hice

Regstration No: 50923

DEC 15 20M

LR
107236

DRAWN BY

DRAWING NO.




2
‘ ' 18" MAX. =
ANCHORED TO wOOD g
DURING TESTS @ @ TYP. —
/ Y 2
18° MAX S %) —ANCHORED 5|8
YP, 6" MAX, N TO wOob o |2
AN ANCHORED TO wOOD | - —L | Jeiie TesTs o1 a
DURING TESTS T 5 B
;
6" MAX. . @} CLIP S5
| In ul - CLIP In ul g -
CLIP I§ &l * i LEG OuT [ &l ! =
UNLIMII%E[; > e i RENARS v <
' CLIP HEIGHT , o
HEIGHT L] | (EG IN L om o Y 23
6* MAX.T ‘“‘\l@ 6" MAX.[[ STl = s
67 MAX, I '__\JAMB SPLICE 67 MAX, : r:\_\JAMB SPLICE —J =
' [E &l WHEN REQUIRED B H] WHEN REQUIRED | gy | =4
@ 775 FOR STACKING f @ FOR STACKING | 9 | % 3
21 K=
@_/LJ Ll—L @—/lj LJ—L MR
67 MAX, I I 6" MAX, L L ag
— — =
1 ] ; S —— R UV R I B —
SPECIMEN #3 \@ SPECIMEN 44 \@ Pralding Code Z | =S
120 PSF_DESIGN PRESSURE DEAD LOAD SHIMS T | =~
QRTY OF 3 THUS TESTED (QTY OF 3 THUS TESTEDD o=
| (D— @ SINGLE PANEL %/ o
2 ) v z
6" MAX. |E —— ® APPROVED SPECIAL SHAPED LOUVERS Z~ | OO
T—-[ | H : . ‘% EZ }_'__'
' [ =\ = S -
JAMB SPLICE (L ut { " ; X i
WHEN REQUIRED [ il - g S Ll
FOR STACKING 6" MAX. | : : L]
_ @\[__] H ” 6" MAX. == [===i—| DEC 15
UNLIMITED H =l —_— 20(1
HEIGHT 18" Max. ! : y = A RICE J;
TYP. A= = = S ENGINEERIN N \D
i B N — L N I S
-+ Pirone [920.345 1042 f o™ P~
‘@“\ @ Fax  |920.645 1048 A le o
\ I WWW_RICE-ING.COM o POl pat o
11— il . o Fit No{ - 2 lale iy |5
6" MAX, = /—DEAD LOAD_SHIMS == B ot Alnovaation #0000 (5 |5 |5 8 |2
t — — REQ'D AT SILL David Rice . SHEET NO.
' l egistration No|50923
. . c 0OF 8




ACTUAL
LOUVER
HEIGHT

—
e 1/32"

i

TYP.

' - / 5 581204120
.
@“\\\@/_NL Q
;/Q: xé(\\i S
AR
1 :
=
/ :
M’Q |
VI o VA
HEIGHT Q |
q Q 2 E
—V Q |
c 1/32 . |
=V |
VQ > |
V/Q 75375HI203
20 ) |
@—M | A20D
~ | @{( /T 7501201

VERTICAL SECTION

off

il

VERTICAL SECTION

;i-;_ 1
N S G N

[+4]
58
|2
= =
3
e
® |8
“ =]
4k
z | &
o
ZR K-
> =
& | 2
“
D‘ —
=
I
' |
L] EE
> oz
5 B2
1 x
_
g
Ll .
=
ACTUAL = Dﬁ —
LOUVER th L
HEIGHT S =
— o
255
I — Py
N &:
L/ )
I =)
2 1/32” & \ ‘
A N Tp) <_EI %
| ENGINEERING| © | & Z
s N1 105 Schoo! Creek Trail £ —
-\_‘I'E e Luxzmburg, Wi 54217 ™~ —
I Phong 920 845 1042 S I
, ’ls Fax  920.845 1048 g} )
s il WWW.TICE- Ing.com I L Lol
'j_;-]lf 0 >
il o F-01000005061 % )
& ii : : uthorization: #2080
pal I Reglstration No: 50623
e3RNeS@@wunny, ~ | f | | 0
=== oMID 4 //, Z2BNEEL
\’:...“ul’ ah,‘,. 5, /‘::’ o 0_'
s 2 " %Dﬁ ‘I—u IS
i t 9 3 (‘IO —
3 : i3 g
VERTICAL SECTIEN¥ P (S|
STATE QF ."'leg g |w g 5
2 STl S R R
6‘ 4,,“.OR\““.|‘ (5\":}
e, SION AL g\\@o SHEET NO.
DEC 15 201 W 3 0OF 8




Az20D
(202720
20D
2
17 [s] o]
16

203D
d20D

@E®

T~

13114

/
L 9

ASKET TAPE,
FIELD APPLIED
TYP. AT ALL MULLIONS,

G

1

0

/

—

~—1/8" GAP

MULLION & MULLION ANCHOR CLIPS

o W/ DOUBLE 1/8* X 6 5/8" DEEP CHANNELS

120 PSE

202

.

203

20
Jo=t—A203E0>

T

b "TYP,

/

\

aC

\\/
!

i

|

/

NERCE,

®

e~ —

—~-1/8"

GAP

MULLION & MULLION ANCHOR CLIPS

W/ DOUBLE

2" X 8g*

X 1/8*

TUBES

120 PSF

20D

0BT
203

g o
o

n

0

s C/

RIDREQ'D AT SILL
20
20

2024203

o o/

NO.| REVISION DESCRIPTION | BY | DATE

1 [SHOW AS TESTED CONDITION|_DR|2/28/08

@“\

el

o

o

8]

—i~—1/8" GAP

MULLION & MULLION ANCHOR CLIPS
4 W/ 2) 3" X 3* X 1/4" ANGLES

/95 PSE

—~a._ © :
(X9— —— =5
) | J A e O )
———® .
(' DE
L Za
- 2| =2
1/8" GAP RE{JE 5 o
AT NI XA TSI _J
MULLION & MULLION ANCHOR CLIPS ENGINEERING | -
W/ _DOUBLE 1/8" X S* DEEP CHANNELS Luxomburg. W1 54217 A~ S
Phone 920.045 1042 <L Q: 2
120 PSF Fax  920.8451048 _ —_—
WWW.HCE-INC.CoMm i Mm &‘ o
Flonida Firm No* F-01000005061 TR R=-5
Certificate of Autharization: #9090 _ - E
L Dawid Rice (] =
Registration No: 50923 <T Q =
Z | =33
<T by
10 %
2 75 0
il (13Y14) =z U
D v 2 O
o] CZO \O Q J o] % j ‘q_l:
®e~| > om | 3|38
——— 5559 o o o] ] L]
z —l##l—-——— % > A
6B 6 (W)
2 @ Ve 3
™ / N ‘ P
O 2\ ' %/ NS
& {:‘; e Lrj
. 4 2 |
— 178" GAP g‘ - ™~
S, o
HAF =ML
W/ B 2 X 4% X 1/8° L AIE
e e |2
75 _PSE I8y ﬁ\@\ﬁ g1 12 |&
“ONAL S SHEET NO,
I
DEC 15 201 4 0OF 8




13/32” ~— ACTUAL
MAXIMUM LOUVER
WIDTH.

@JAMB ANCHOR CLIP <LEG [OUT)

MAXIMUM

ACTUAL
LOUVER
WIDTH.

PRODUCT REVISED

s complying with the Florids
Butding Code
Aoupﬁnoe No

1-0%22.04
3

@JAMB ANCHOR _CLIP <LEG IND

617 X8 910

4
24" MAXIMUMU3
ON CENTER

/8"

GAP —ft=—
FALSE MU

LLION

EXPOSED FLAT BAR ATTACHED AT

FACE OF LOUVER TO SIMULATE

A VISIBLE VERTICAL MULLION,

RICE

ENGINEERING

108 Schoot Creek Trail
Luxarmburg, W 54217
Phone  920.845 1042
Fax 920.645.1048
WWW.TICE-HIG.COM

Flonga Firmy No. F-01000005061
Ceriiiicate of Authorization: #8090
L David Rige

Registration No. 50923

i o L
(7 STRTE OF  S446!

,-, S

BEC 15 ogit

NO.| REVISION DESCRIPTION | BY | DATE

1 |SHOW AS TESTED CONDITION|[ DR{2/28/08

DRAINABLE BLADE LOUVER

SP-537DC 57

INDUSTRIAL

DEL ANO
MINNESOTA

LOUVERS INC.

JAMB &
FALSE MULLION

DETAILS

LR
10-31-07

DRAWN BY

107226

UT ¢y [cHK'D BY

I

™1 |DATE
™

O —iscace

™

=
& BRAWING NO,

00]




[-— 4.919"" —|
0.081”” o [
3.146""
N____ Y
ITEM #1
TOP FRAME

|—-—4.919”——‘

ITEM #2
937XF BLADE

0.081"" ——j=—
L—5.081’”’———

ITEM #3
BOTTOM FRAME

f

2.402""

| —

1/8”-"
bl

_-____-__0'081”#
5:’!

1
—| —3/4"

ITEM #4
JAMB SIDE FRAME

2.840""

0.136"" —=
3.696""

2.000""
i 80171
2.180" v 02800

{ 71 1

B N
1.000*"

e

ITEM #3
BLADE BRACE
]
O 0 O “aw
J

——1 1’ l-—— r0.890’”’
T

_-__-_Olles.ﬂ”

5 i

—L—O.IES””
T

ITEM #6
3" CHANNEL

.

0,123 —

17 |‘l—0.850””

6625

T

0.185””

L—U.IES’“’

i—O.lES“

ITEM #8
87%X2" TUBE

11347 %
T 0156°

2.299”

0.1887*
_[:
[

ITEM 1 y
2'%X3/16" FLAT BAR H 3-0?0

!

ITEM #9
47X2" ANGLE

0,280
v R

NGINFEERING

1G5 School Greel Trail
Luxonshurg, Wi 54297
Phone  92G.845 1042
Fax §20.045 1048
WIWW SIGe-NG €O

Flonda Fim o, F-01000005081
Cerlificate of Awthorization: #9009
L David Rite

Registration No: 50923

e
ITEM #7
6.625" CHANNEL

3" 0.250"
L

5l

ITEM #10
3"X3* ANGLE

PRODUCT REVISED

1 ISHOW AS TESTED CONDITION|LDR|2/28/68|)

NO.| REVISION DESCRIPTION | BY | DATE

“ IO 12577

L,

ITEM #1865 NP R E N ;-,
2'xar .ﬁlﬁﬁs_a \C' N "

e 4

4

DEC 15 2013

W

<
v
Ll o5
> a2
0 ‘:E
_
b~
L
s
—J Q:"'-ﬁ
/M &m
w i 1 as
4S8
3|22
T~
o
fom
H
)
O
2| e
™ ¥ <T
PlEn
AN
% 0
7| O
. i
o d
ol | L M~
| | o
Pl |g
5»93
SHEET NO.
& 0OF 8




Eﬂ
] I_._I 1”_-_
1” P Y O
3” [O'ESOn’fﬂt \\
I |=§: \\:” :::I
gt —{
@7/16"(2)>
— |==3/8"TYP,
1 9/167 .
= #5/16"(4)
F [ g6
1
4 I &= IST% #h}lSEII_IUN ANCHIR CLIP - 4° LONG
DK
5/8”—J 1 13/32”
. bttt
174 L o
;”— 0125 i —0 0 -6\
1 T 7 7 Sdes/e7a
|-<.8”—-IT -~ 5,500 - I
5/8" — 7/87
"— ‘—L_ '_—1 1/4*
| o l ITEM #21
s 5007 ” { 1/4” 2'X2*X1/8" JAMB ANCHOR CLIP
o
| 1 1/4 |
SN

N 65/167 (4)

1 1/27
3/40—~ |—
T 1”
3 t ® o
0.188"” TN
i L —e5/16"()
g T 3]
y_ =0 |—5/8"TYP.
L3ge [O/ETYP
11— 85/16"(4)
N V f * gﬁg' #JUS&LIDN ANCHOR CLIP 3' LONG
3 N _
cj N 1 1t/e
28 \¢7/16”
1 13/32*
T ENGINEERING
COUCT 5 56 sroel Trail
e e e Florhda o L 84247

Phong 920.545 1042
Fax 020.845 1048
WAL TICE-ING.com

Puilding Cod

Accoptance No [ ] - N

Expiration

By ' Flonda Firm No: F-01000005061
i Couwol Cerlificate of Authorization: #9090

L -David Rice
Registration No: 50923

DEC 15 20m

NO.| REVISION DESCRIPTION | BY | DATE

1 |SHOW AS TESTED CONDITION|[ DR|2/28/08

v o
[ za
> S
3| A
] =
|
L
AEE
- Q:""—-c
A B
]
Ll Cf)%
2| RE
<T
Z | = 3
<< | ™~
v
P
N Al
'_,..._'
N T,
S| 9
P~ —
™ Y <
Ip] I___Il....
a 5%
)
=
<L
O
I®;
$ al
| | ™~
b o o
| —
> o g
ol I Al B
SHEET NO.
7  0OF 8




X %

KKK KX

X K KK X

LOUVER PARTS LIST
ITEM # DESCRIPTION
1 TOP FRAME 0.081° THK 6063-Té ALUMINUM
2 537XP BLADE 0.063" THK 6063-T6 ALUMINUM
3 BOTTOM FRAME 0.081" THK 6063-T6 ALUMINUM
4 JAMB SIDE FRAME 0081 THK 6063-T6 ALUMINUM
95 BLADE BRACE 0.156" THK 6063-T6 ALUMINUM
6 5°%X2°X1°X0.125° THK CHANNEL 6061-T6 ALUMINUM
7 6,625°X2°X1°X0.125" THK CHANMNEL 6061-T6 ALUMINUM
8 B°X27X0125" THK TUBE 6061-T6 ALUMINUM
9 4°X27X0.125" THK ANGLE 6061-T6 ALUMINUM
10 37X37X1/4" THK ANGLE 6061-T& ALUMINUM
1 2'%3/16" THK FLAT BAR 6063-Té ALUMINUM
i #8 X 3/4° S8, HWH SCREW ALLOY 1,2,3 COND. CW
13 #10 X 5/8" S8 HWH SCREW ALLOY 1,2,3 COND. CW <1/BRACED
14 #10 X 5/8° S5, HWH SCREW ALLOY 1,2,3 COND. CW (l/BLADE>
15 BOTTOM BLADE BRACE 0.156" THK 6063-Té ALUMINUM
16 2'X2 %1/8' THK 6061-T6 ALUMINUM ANGLES
17 1/4* DIA, 304 STAINLESS STEEL COND. CW SCREW - 7° O.C.
JAMB ANCHOR CLIP SCHEDULE
ITEM # QUANTITY DESCRIPTION SUBSTRATE MIN, EMB.| MIN. EDGE |ON CENTER
21 1 27X2’X1/8" 6061-T6 ALUMINUM ANGLE - 5-1/2" LONG - — -== ==
ee 4 / CLIP 174" X 1~1/2* 304 S.8. COND. CW SELF-DRILL SCREW ALUM N/A N/A 1
23 2 / CLIP 174" DIA. S.5. SELF-DRILLING/SELF-TAPPING FASTENER| 16 GA MIN. STL/STL STUDS — — 3
24 2 / CLIP 1/4" DIA. S.8. HILTI KWIK BOLT III ASTM C90 TYPE IT CONC, BLOCK 2" 3’ 3
25 3 7/ CLIP 174" DIA. S.S, LAGBOLTS SPF wOOD SG = 0.42 3 N/& 1-1/2*
26 2 / CLIP 1/4" DIA S.5. HILTI KWIK BOLT IIT 4000 PSI MIN. CONCRETE 2’ 3’ 3
* DENOTES USAGE DURING TESTING
75 PSF MULLION ANCHOR CLIP SCHEDULE
ITEM # QUANTITY DESCRIPTION SUBSTRATE MIN. EMB.| MIN. EDGE |ON CENTER
7591 | 2/MULLION END 3"X37X3/16" 6061-T6 ALUMINUM ANGLE - 3" LONG ——= —— -== —
752 | 2/MULLION END 1/4' DIA. 304 S.S. COND CW BOLT - N/A N/A 1-1/2*
733 1/ CLIP 3/8’ DIA, 5.S. THREADED ROD W/ POWERS AC-100 EPOXY| ASTM C90 GROUT FILLED CMU 3-1sef 3" i
754 1/ CLIP 3/8" DIA, §.S, POWERS POWER-STUD 4000 PSI CONCRETE 3-1/2° 3’ -
735 2 / CLIP 174" DIA. HWH TEK FASTENER WITH CLIMASEAL FINISH 1/4" MIN, STL N/A N/A N/A
756 4 / CLIP 1/4* DIA. S.S. LAGBOLTS SPF_WOOD SG = 042 3 N/A N/A
* DENOTES USAGE DURING TESTING
120 PSF MULLION ANCHOR CLIP SCHEDULE
ITEM # QUANTITY DESCRIPTION SUBSTRATE MIN. EMB.| MIN, EDGE |ON CENTER
1201 | 2/MULLION END 3"X3"X1/4" 6061-T6 ALUMINUM ANGLE - 4" LONG — - — -—=
1202 | 2/MULLION END 3/8’ DIA, 304 S.S. COND CW BOLT — N/& N/A e’
1203 1/ CLIP 1/2" DIA, S.8. THREADED ROD W/ POWERS AC-100 EPOXY 4000 PST COMCRETE 4-1/4* 4* -
1204 4 / CLIP 1/4" DIA. HWH TEK FASTENER WITH CLIMASEAL FINISH 1747 MIN, STL N/A N/A N/&
1205 4 / CLIP 1/4* DIA. S5, LAGBOLTS SPF_wOOD 56 = 042 5-1/2* N/A N/A

¥ DENOTES USAGE DURING TESTING

PRODUCT REVISED

RICE

"ENGINEERING

105 Schonl Creek Trail
Luxamburg. W1 54217
Phone  920.845 1042
Fax 920.845 1048
Wy Tice-inG.com

Flonida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923

6:9100“(;@-
.-w.fl, N AL {’,%;\\\

MpnnanW

DEC 15 201

NO.{ REVISION DESCRIPTION ! BY | DATE

1 |SHOW &S TESTED CONDITION||L DR |[2/28/08}

o =
LuJ 20
> | 3k
= o=
_J
-
Lu
= :33 3
O A=
A B
T
w | 00 as
| D B
m e
zZ | ==
< Py
X
9
= =
ok O
(_) —
a | —
™ v 0O
n | <<=
| Q. 02
0 O
% )
L
O
N B
M~ i)
o T N
BB S
| —
A ASIRE
SHEET NO.
8 0OF 8




